
SECOND YEAR HIGHER SECONDARY EXAMINATION 

SAMPLE QUESTION PAPER 

Part III     Time: 2 Hours 

      STATISTICS      Cool-odd time: 15 minutes 

Maximum: 60 Scores 

  

Answer any 10 questions from 1 to 12 

each carries 3 scores (10x3=30) 

1 a) Correlation coefficient between x and y is 

0.4 then the correlation coefficient 

between 2x and 2y is ……………… (1) 

[a) 0.8  b) 0.4  c) 0.2 d) 0.1]   

b) Draw a scatter diagram between heights of 

father’s and son’s.   (2) 

Height of father: 65 66 67  68 69  70 72 

Height of son :   67 68  69 72 70 72  71 

And comment on correlation between their 

heights 

2 a) Two regression lines intersect at ……(1) 

 [a) (0,0) b) ( ̅  ̅ )  

c) (byx, bxy) d) None of these] 

b) Find the mean of the variables x and y 

given the following (2) 

 Regression of y on x :2y – x = 50 

 Regression of x on y :3y –2x = 10 

3 a) The continuous random variable x has 

cumulative distribution function f(x) 

where F(x)= {

         
  

  

           

      

     (2) 

 Find the pdf of x 

b) Give an example for a continuous random 

variable    (1) 

  

x  

 a) x y 

x

y

[a) 0.8  b) 0.4  c) 0.2  d) 0.1]  

b) 

 a)

…………………  

[a) (0,0)  b) ( ̅  ̅ ) 

 c) (byx, bxy) d) ] 

b) x,y 

y x 2y – x = 50 

x y 3y – 2x = 10 

   ( )  
 

   √  
    

 (   ) 

 
 (   )    -∞< x <∞

 

  

3. a)

F(x) 

F(x)= {

         
  

  

           

       

x pdf

 

 



4  Suppose the birth weight of a new born 

baby is a continuous random variable with 

the pdf 

                 ( )  
 

   √  
 
 (   ) 

 
 (   )    ∞<x<∞ 

  

1. Find the average birth weight of a baby

     (1) 

2. Find the standard  deviation of the 

weight    (1) 

3. Find the probability that the birth 

weight of a baby is less than 3 kg (1) 

 

5 A random variable x has the following 

probability density function  (3) 

x 0       1     2          

P(x) 0.3  0.2   0.5   

Determine E(x) and V(x) 

6 The distribution of daily wage of 500 

workers assumed to be normal with mean 

wage Rs. 500/- with S.D Rs. 50/- Estimate 

the number of worker with daily wage 

between Rs. 400/- and Rs. 600/- 

7 a)  Write the Four desirable properties of a 

good estimate    (2) 

  b) The estimate t1 is more efficient than t2 

when     (1) 

(a) V(t1) = V(t2)    (b) V(t1)>V(t2) 

(c) V(t1)<V(t2)  (d) None of these 

8 A random sample of 100 is taken from a 

population. The sample is found to have a 

mean of 76 and standard deviation 12 

obtain 99% confidence interval for the 

mean of the population. 

9 a) A trend equation is given as y =18.04 x 

+126.55 with origin as 2015 shift the 

origin to 2020    (2) 

[a) 15 (b) 10 (c)11 (d) 9] 

b) A time series has 15 observation. The 

number of moving averages of order 5 is 

…..       (1)  

b)

 ( )  
 

   √  

 (   ) 

     (   ) 
∞<x<∞ 

x

E(x), V(x) 

 (SD)

 a)

b) t1 t2 

(a) V(t1) = V(t2)   (b) V(t1)>V(t2) 

(c) V(t1)<V(t2)  (d)  

 a)

y =18.04 

x +126.55

b) 

a) 15  (b) 10  (c)11 (d) 9 

 

 

x 0          1            2 

P(x) 0.3    0.2       0.5 



10 a) A partially destroyed report was submitted 

by a statistician after a statistical 

investigation some of the readable parts 

are given below. 

Source  d.f S.S MSS F

 Between 2 ---- 5 --- 

 Within  --- 14 --- 

Total  9 

a) Complete the missing table  (3) 

b) What would be the conclusion after 

analysis 

11 From the following data, construct simple 

Am index for 2022 taking 2018 as the base       

(3) 

Commodity  Price in 2018   Price in 2022

 A  50   70 

B  40   60 

C  80   90 

D  110   120 

12 In an agriculture experiment for carrying 

out ANOVA, yields from 5 plots of 3 

varieties of crop is recorded 

a)   What will be the degrees of freedom of 

error sum of square   (1) 

b) If the grand total of observation is 48 find 

the correction factor   (1) 

c) Null hypothesis in analysis of variance is 

     (1) 

 (i) Variances are equal(ii) Means are equal 

 (iii) any one of them (iv) none of them 

Answer any 5 questions from 13 to 18 each carries 

4 scores (5x4=20) 

13 Find the second order derivative of 

 a) y = x
3
 – 20x

2
 + 5x – 9  (2) 

 b)Find the value of ∫ (   )  
 

 
 (2) 

 

 

Source  d.f S.S MSS F 

Between  2 ---- 5 --- 

Within   --- 14 --- 

Total  9 

a) 

b) 

AM 

Commodity Price in 2018 Price in 2022 

  A  50  70 

 B  40  60 

 C  80  90 

 D  110  120 

a)  ESS  d.f

b)  

(CF)

c) ANOVA

(H0)………..    

(i) 

(ii) 

(iii) 

(iv) 

x

a)  y = x
3
 – 20x

2
 + 5x – 9       

b) ∫ (   )  
 

 
   

 



14 Given the following data 

 V(x) = 9 

 Regression equations are 2x+3y-70=0  

and 3x+2y-80=0 

a) Find correlation coefficient (4) 

b) Find the standard deviation of y 

15 a) If X and Y are independent poisson 

variates then X+Y follows 

a) Binomical  b) Normal  

c) poisson d) None of these (1) 

b)  If 20% women of Kerala are employed 

outside the home district, find the 

probability that in a sample of a women 

a) None of them are employed 

b) Atleast one will be employed (3) 

 

16 The following data gives the details of 

death due to cancer reported in a hospital 

in a locality. Fit a trend equation. Also 

estimate the number of deaths in 2022

     (4) 

Year :     2015  2016  2017 2018 2019 

No of deaths: 4    7   11  13  17 

17 The average no of articles produced by 

two machines per day are 200 and 250 

with standard deviations 20 and 25 

respectively on the basis of 40 days 

production. Can you regard that second 

machine is inferior   (4) 

 

18a) Using simple random sampling without 

replacement (SRSWOR), select samples of 

size 2 from the data 2,3,6,8 and 11 

a)  

b) y (SD)

V(x) = 9 

  2x+3y-70=0  

3x+2y-80=0 

 a) X Y

X+Y

a) b) 

c) d) 

b) 

i) 

(probability) 

ii) 

Year : 2015 2016 2017 2018 2019 

No of  

deaths :     4   7 11 13 17 

 

S.D 

(i)  

(probability) 

(ii) 



i) Write all possible samples 

ii) Find E(  ̅ )   (3) 

a) If y follows t distribution with n d f then y
2
 

follows …………………  (1) 

i) t distribution with n d.f  

ii) y
2
 with n d.f 

iii) F distribution with (n,I) d.f 

iv) F distribution with (I,n) d.f 

 

Answer any 2 questions from 19 to 21 

each carries 5 scores (5x2=10) 

19 The marks in class XI and XII exams for 7 

higher secondary students in statistics are 

given below. Compute the rank correlation

     (5)

 Marks in XI   15  14  25  14  14  20 22 

Marks in XII  25  12 18   25 40  10 7 

20 Construct the of Laspayer’s, Pasche’s and 

Fisher’s index number’s for the following 

data     (5) 

Item 2015 

Price   Quantity         

2020 

Price   Quantity            

A 

B 

C 

D 

20                  10 

40                  3 

45                  5 

15                  20 

30                  20 

50                  6 

50                  10 

25                  25 

 

 

      

21 Fifteen samples, each of size 50 were 

inspected and the number of defectives in 

the inspection were   (5) 

2,3,4,2,3,0,1,2,3,5,5,1,2,3 

Draw control chart for the number of 

defectives and comment on the state of 

control     (5) 

 a)

SRSWOR 

E(  ̅ ) 

b) y  t(n) y
2
 ……… 

(i) t(n)  (ii) X
2

(n)  (iii) F(n,1) (iv) F(1,n) 

 

Marks in XI  15  14  25  14 14  20 22 

Marks in XII 25  12  18  25 40  10 7 

Item          2015 

Price    Quantity        

       2020 

Price   Quantity 

 

A 

B 

C 

D 

20                  10 

40                  3 

45                  5 

15                  20 

30                  20 

50                  6 

50                  10 

25                  25 
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